A)

/

-
HE.

[1] XEHE

(1) ¥BYD2BERLT. TORIEAT -/ L
FORTROKERDILL,

(3) ROBHEETRINAEBMAICTHLILLD,

® 3 km? 945 m* = m?
@ 6 m 22 cm® = cm?
©) 5 em?* 4 nm = mm?
@ oot = [ Jot|  |w
@ 70011 em? = m? cm?
® 308 mm = cm? mm?

YZTNEHO Train Your Math 53BN EREEE  FE 438

(2) RO2BDOLEEL> XL ELEHOLLICLE

LLdo
0) 64 © 48 =
Q) B84 ¥ 112 =

@ 1.2 : 02 =

(4) RO2ODHEERLELLS,

3 2
® + =t —=—

4 7

3 o [1 [1 []
@ —t— ==t ===

7 5

4 s [ ] [ [
® —t—= ==

5 &




(2] =7

(1) ROILFEEITOVWT RINAEIRZRS TR

TY-frznyinz%&i3LL),

3 RZESFHE CYIH

3) ROEDE-T-AITOWT RBWIZEZLFLL

Yo

1)
(2)
(3)

(4)

SA

#DE

SEF

ZJ

EXNRTB2REEAELLS.
EHRT BAEELELL D,
ERRT BREEILELL D,

ENRT2AEEALELLS.

Jubd

(2) ROBDLXDAREIEKDELLD,

DO E@m» 1B 8cmOESFHT . &I 3
c mOIEMEA T VOIFFE

@ EROFE»6cmT . BXH 12cm
DAET VO

Q@ #*

X

6 ¢ m DIRFE

(4) RoH- N HN3>NOHAxEH-HIZ.AB-C

DENTLLID,

& A
W B

N




(3] &FwWhELA

(1) $#3%FYICBEEXTEXIILELLY, (2) wvF#HE23EKFNLT.ZAFE2DI12LEL
&9,
# 3 1|A[8|H[15|0[22/ V
2/ B 9/ 1[16/P |23 W
BSX 3|C (10| J [17|Q |24| X
QRWHERRN 4 D 11| K[18/ R|25 Y
¥ 5 E 12/ L|19]S 26| Z
TNES 6 F|13/M|[20]| T
7/G|14/N|21|U = — D >
(3) IRTOMEF|-HEIT- 97 av 71, | h5I9NE (4) BB DONIGEERASK.NMNAKES ST
DENDLIICERMEIRDFILL, O0OH T. KA2K/NASKESI 6000 TH
ST KA IO NIBEDEERIIWSTLLD
A
3 |
q 3
7 q
[0 + 50 = ooom
| {9 8
[=x1+ 'y = s700m
6 7
51 1 213
3 : [XA 182 1?2




(4) 0S5 T nER

(1) AOOCHEEZEERKDHFELLD, (2) ROZEOZHMEIBEDHILLY,
0~31 DRZIE EFOSKNIEE MhIET (18)  T#75
I (7)1 T~ RFICET I TR T, 3/, %0
H IR INCERT US> ToERUCET 2 TESE T,
bl G ¥ | 5% 587 —#H
J F il @ 3| 0000 I
s . .
G i 4 4 0 {0
> D 12
C pEE2 @ o 18 37 16 1
H B : :
A RARE3 ﬁﬂb 01000
9 8 7 6 5 4 3 2 1 f 1
gL | 25 @
# (B, 6) R s 3 i ]
fE1ZE5 a@ 10000
5 € ; ) I L« ) - -

(3) RI—IHh o —FFTRETHCE, ZHIL (4) OQNDIETITHSTEKE. THBLIDE IS
A FBEDEIRETLLEID, TL&LID

o [ 5 | =rgacszrE<

(T8 -roEem<)

—s |l = B 1% | g @ Oo#xx | 6 | BEEYRT

22— | | |3|2|5]| |&

@
Al |-
AZ—h
x 7 * 7
g 3 ] 2




